[ ot=2t ] (¢l - &
AR B @40 MBI AIBRAC 8 JlYgsEEARR
1_ M.j oque | SEa| B2
A 47,561,834 | 39,935,557 7,626,277
600 AtR2l 19,240,934 | 19,656,557 | ~A415,623
610 Y+ 18,842,966 | 19,547,473 A704,507
611 A8=Z49 18,824,142 | 19,528,649 | ~»704,507
02 7Hd8steEAE= 8,112,459 | 8,538,936 ~A426,477
O 7I4E stk A EE ¢ 5309x18,758x68Ex12%= 8,112,459
06 YEESt+EAER 9,646,299 | 9,952,793 ~4306,494
O YEkg stk A8z Y 1,5142x10,6198X50Ex128= 9,646,299
08 CHSEESITAIER 592,555 549,360 43,195
O UZEE stk AR Y 1,308 %x394x968Ex12¥= 592,555
10 AHUSAESTZAIER 472,829 487,560 A14,731
O AHE otk A EZE ¢ 478Hx2564x322Ex1 28 = 472,829
661 7[EfIY, 18,824 18,824 0
09 7|Etgesdy 18,824 18,824 0
O Z[ot=0|8REZ &2 85%Ix18,455Ex12¢¥= 18,824
670 Fe|4+ 397,968 109,084 288,884
671 O[At=< 49,000 49,000 0
01 oZ0|At¢ 49,000 49,000 0
O d710i= 0|2t 7,000,000,000¥%0.7 %= 49,000
672 ERAMYZTY 287,221 592 286,629
01 Yuts|AHYU= 287,221 592 286,629
O Fg27|0j2d FHOIS st-EAE R HdHEYF
592,000 x14l= 592
PAtEZE, 7| 28 8eg At St AR YHEdS
286,629,000 x14|= 286,629
679 7|E} el sl 61,747 59,492 2,255
01 7|t 61,747 59,492 2,255
O EfE Athz ¢ 30,531
o gsfi=&atz|ut 12,744,000 x 1A= 12,744
o S|t 17,787,600 x 1A= 17,787
O otk HER ¢ 7,900x2,738m= 21,630
O Aot 8= +¢ 4,30094x208.85m = 898
O gl te|nt 2L Atz ¢ 60,340x12M|Clix128= 8,688




[ 32t ] (Chel -
o e o 2 EYdolgey ME 2 S AHEYIsY
a = quey | ZEG| 32
-8 = O A of
100 A2H¢ 26,538,000 18,579,000 7,959,000
170 22dozae+Y 23,138,000 | 15,479,000 7,659,000
171 AHEEE3+Y 300,000 300,000 0
01 AERY3sY 300,000 300,000 0
O 33st4E ozt 2e3 30,000,000¥4x10H4= 300,000
173 EBIAAHEEZRG Y 22,838,000 15,179,000 7,659,000
01 =2n2zx249 11,005,000 | 10,756,000 249,000
O YHAITF AHARSHA T A HH[ALY 1,630,000,000%x14l=" 1,630,000
O 2005 BTL St HH|AY 3,006,000,000€/x14l=" 3,006,000
O 2006 BTL st ZH|AY 4,340,000,000€x14l=" 4,340,000
O 2009 BTL &t ZH| ALY 1,994,000,0004x 1A= 1,994,000
O ADIE A ESae|A| 28 15 35,000,000¥4x14Al= 35,000
02 ERFAHEEZZSY 11,833,000 4,393,000 7,440,000
O YoYU 11,833,000
o Y| AHHAHHR| S FHIAI 1,630,000,000&x14{=" 1,630,000
o o Z3steA2|AY SHAY 1,276,000,000&x1Al= 1,276,000
o oteYH| 7|2 AE (M) E 1,800,000,000&x14l= 1,800,000
o BTLSH2AHYHIAIY 5,647,000,0009x14= 5,647,000
o ofitZHjrHIY ~FTHI nx 1,000,000,000&x14l=" 1,000,000
o LS OHEHH| L ot 2T IHER|(F
50,000,0009x14]= 50,000
o LARX|Y FH ST A (F2UZ
120,000,000¥4x 1A= 120,000
o AT AHZ HH|AL (FRIZHOIAL 280,000,000x14{= " 280,000
o MUY stAl S HHIALI (AL
30,000,000x14|= 30,000
180 REZZ 3,400,000 | 3,100,000 300,000
181 &MALoZ 1,000,000 1,600,000 ~A600,000
01 &MAYZ 1,000,000 1,600,000 ~A600,000
O =MAYAHZ 1,000,000,000&x14{=" 1,000,000
182 Oj&2 2,400,000 | 1,500,000 900,000
01 Egole3 300,000 300,000 0
O HHEE st AER O|eg 50,000¥4x6,00024= 300,000
02 7|Etoje32 2,100,000 | 1,200,000 900,000
O MEE oIztReZ 0|3 210,000,000¥€x10A=" 2,100,000




(ElARY ey = ESEARES

1,700,000,000¥x14]=

= = gae | 5o

B 8 NE = S oy
600 At< 1,700,000 1,700,000 0
670 Jeelx 1,700,000 1,700,000 0
672 ERRAMYS 1,700,000 1,700,000 0
04 EIEE3A 1,700,000 1,700,000 0
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